FEIG

IDENTIFICATION ELECTRONIC

Arm bracket
1X

® ®
9

Flat washer M5 Spring washer M5
4x 4x

®

9 Yy &

Bolt M8x40 Flat washer M8 Spring washer M8 Nut M8

4x Ax x ox Bolt M8x70
2X
Bolt M5x12
4x

M90510-0de-ID-B



O

c

-

c

>

@)

= >
g =
T c
& o
" =
@

o 9
(4] O
m A -«




2A

Pole diameter: 4,4-7,6 cm (1.75-3")

Pole diameter: 2,5-4,4 cm (1-1.75")




Wall Mounting

The screws for wall mounting are not supplied.




	Seite 1
	Seite 2
	Seite 3
	Seite 4

